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GUE—H/Section A
ﬂﬁﬁ’lﬁ ¥/ Objective Type Questions
A2 FETS 9B & 15 99 (1 % 99F)1  15-1=13
Note: Objective type 15 questions of 1 mark each. 15+1=13
1. §& IR & 999 i
Choose the correct answer:
® P— (Q —R)JEM #:
(@) PvQ —R
@ ®P*Q >R
(@) ®PvQ — 1R
@ i} e
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P — (Q — RVisequivalentto:
(a) (Pv) — R

b (PrQ R

© (PvQ — IR

(d) Noneof these

1P — Q) T
(1) P~1QA (¥ P QH
(@ 1PvQA (z) ¥4 a %2 2
1(P — Q) is equivalent to:
(@ P*1Q () P*Q
© 1PvQ (d) None of these
PA QM ¥ 3R oar 3ot AR Paw QA v ¥
_ (T 5=,
P~ Qis true if and only if both P and Q are true:
(True/False)
Red qyed & O 9= 3 TE:
Jrageaa 8 ¥
(%) @ @ @
(®) g ® &=
Power setof empty sethasexactly ___ subset.
(a) One () Two
© Zero (d) Three
(2)
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sumbers under the usug}

(o A={1.2}yTaB= fa.b) Fl Frf- Ol . I-Cril
lye cpf O a C - - ‘
" | ification operation1s not a group since:
[} ¥ b aaprling? 1i : r .
{a-'l‘,' (1, a), (1, b) (200 (b, b)} | rmlml.hmﬁnnisnmabmaryﬂpemtmn
I 1 r’ . . \ I - [l -
(@) {1 D (202) (o a (b, b)} Iy) muitiplication is ot associative
dentity element does not exist

(@) {(1.a),(2.2), (1.1).(2,b)} |
ic
has no INVErse

(@ {1 D@ 2.a). (1, b)) b sero
What is the Cartesian product of A= {1,2} and I3 (i) o Qe a1, AtﬁJ,,Cﬂ:Dzﬁ; T A &
IR &) ABTCDY R 3
@ el (b 2o (b, by 1 -
®) 1. D.(2,2). (2, a), (b, b)) = = (__a} AFBCD*+ F %1 q
(c) t(l.a)(2, a). (1, b). (2, b)} ?: 'g: kﬁ) AB*CD+* 3 ®q |
(d) {(1,1),(aa)(2,a),(1,b)} 2 é (-{] A*B*CD+ & w1 i |
) HEET&T & g9 0 &t w9-Rftwy 78 & 2 § i In Reverse Polish notation,expressianA*B*C*E
. (HEE/G:I?[F:H E_ % is wrtten as: .
_Union of sets is never commutative, | £ % ® iﬁ:gg:t Ez; i*EEED:
/F g 3 ©) -
(ﬁjmmm%ﬂﬂﬂ?mm%ﬁ;; = 2 ®) iﬁ;ﬁ?amﬁﬁﬁgffﬂ;
Z}E?;?g f:q? ;;:i;ﬁ?: The intersection of any two subgroups of a group)
(@) Tom wErd T 3 alsoasubgrouqu(l (True/False
(x) afaa@iaﬂuamﬁﬁ%,aafmﬁﬁaﬂ

(®) maﬁln\q«aﬁ%‘ f-a w87
@ wmagm @y () B PR T AR T

1392 ; (a) BT TR, TR T AT R
(3) Turn Over 1.J-392 (4)
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(w) B A, RarTRes 9T Y-t " &
() BRAFTmeEH A it R
If 3 is a Boolean Alpzebra, then which of the

following 15 true”?
13 is a finite but notcomplemented lattice

{a) tat .

(b B isa finite, complemented and distributive
lathice

(c) Bisafinte, distnbutive but not complermnented
lathice

(d) B is not distributive lattice
sty Praw #) s Rean s 2:
Soa*t(at*h) bi &g
@ a*(@+b)=b % EGH
() a*(@*b)y=a+bd w1 4
(@) a*(a+by=a®d @7 H
The absorption law is defined as:
(@) a*{a*b)=b

(b) a*(a+b)=b

(c) a*(a*b)=a+b

(d a*(a+b)y=a

(xil) O RS e 1 &9 & Raenes Jes B

(W /3aw)

Dual of a distributive lattice is a distributive lattice.
(True/False)
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(@) s F @it @ HA FEA FOAE FTA AW
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(W) 3@t foth % wm @1 faum &+ o7

(7} =9 T FE T8

A vertex ofa graph is called even or odd depending

on:

(@) Total number of edyes in a graph is even or
odd

(b)  Total number of vertices in a graph is even ot
odd

() Its degree is even or odd
(d)  None of these

(6)
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Fle#d] # <idli
e vert 1| -'!r'l.f,ihi.-..
e A Section i
7 7T geel Short Answer l'ype Questiony

b

' o 9, it rE P

Notc: Short answer type 5 queshions of 5 marks each with
[nternal choice. §u§us
gaad aw SUEI 6d 0% qOHen 7T 9 oaA
[AET F AT S |

Explain Languages and Grammar over an alphabet with
notations and example.

HAYdl/or

7T p= 6 T ¥ a0 q= ‘@ Rewdh B, 9
AT U B wd (ot abarer 3 A &)
) 8 Tl Jech }
D =iy} o Awh
W T ow ¥R aw i s Aead @
) {Tﬂ,‘[—mqﬁqt;‘ﬂ“mt

! j;zﬁmqﬁgﬁ;“qﬂ-‘wtm“

e Tét ¥

.
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o Tl-\’i“\-. then write

R ,..r‘ .\,rn'f“’:""“'c'“”ht j
It fye : N II““” a1 -
Jang folopicd |
) e i | _..!.H_”“”._
n I'iCI‘i'Ihrfl' ._*wr,rh},m |
Jse tha! Vi )
" I:Ji:i::cfm“[nrmurhm ; labonioy ] .
, Ilc‘mmlmtthillhm”““P'“”r"”  not lanonous
vl 1 ) - "
3 *n,’mqflsﬁnmn()‘m B) ;
. prove that A x (B AC)=(A*B) N (A~L)
Hqlor
Wﬂmwmﬂt?aﬁmﬂwmf
5 =rEar B | |
What do you mean by sets? Explain their types and
operations.

4. frawe B oF GO @ SR ad B SR AfEdE B
Show that the inverse of each element of a group is umque.
HA4dl/or

fz #1TC % &= {0, 1,2, 3} =S @ &Y 3 am
m?gﬁa;t%anﬂﬁqﬁﬁﬂﬂ:a%a

Prove that the set {0, 1,2, 3}:sagrm|punderaddma
modulo 4 as the composition.
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oo 7T A & Yl G O g X<y’
5 gy 9 N’..}'Eﬁf ferenTford mélm 5 NT®
e A TR () T SR (v) e g 2
«v=HCFE(x,y) a0 xvy=LCM. (x,y) &I
If N is non-empty set, and there is a relation 'x<=y'
meaning x divides y. Show that N is a lattice where the
meet(") and the join(v) are respectively defined by:
x*y =H.C.E(x,y)andx vy=L.CM. (x,y)
Hdl/or

F(X )3 %, %) =X, 00 X+ X 0K XGRS XXX
Simplify the following Boolean expression:
F(x,, X xs) = xl’ X, X, Hx, 0 X xox x]xz'x;
& it B o a6 & @it ot @t felt 361 avme
R 3 He & AR § A B
Prove that the sum of the degrees of all vertices in a graph
is equal to twice the number of edges.

| A @l/or
o AT % o ot Ot oF amE o F Rt @
R §E& n(n-1)23 |
Prove that maximum number of edges ina simple graph
With n vertices is n(n-1)/2.
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GLiv k '
i
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Note: | Ong answl 1 500 45

lnlt‘rnnl chimce

- hr AT
¥ mTT | o
.J;1: . W f=.-. !

7 rI.;J.fﬂr‘ H
311 p N P 4

g er@erd

4! e
2| (e 4 ]
Prove Tautology (any two):

“(qest) (p>T)

a) p——rqq—-}v—wplf’q
b (p—y@—p P

o9 @en — Pl
8. %ﬁﬂ%n‘ﬁ%ﬂ £ N —> NI fix) = x* &R G
5 o & 2, 8 N ARG Gediel 1 qged 2
Show that the mapping f: N — N defined by f{x) = x’is
one-one into, where N is the set of natural numbers.
HYdl/or
2 A=l & §Y, GRESY, ofer aur FHARE R &
ferg 37 Rl it feftr Hifr qor e afQL
Draw and explain the venn diagrams for union, intersection,
difference and symmetric difference of two sets.
RJ-392 (10)
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e P e T R P % e e
o e e ¢ N |
Show that the set of cube roots of unity is an abelian
with respect to multiplication.

J1edt/or
%@mﬁ?ﬂ"ﬂ Tﬂﬁlﬂ'ﬂ‘ﬂ’ﬁﬂq‘, R a*b=a+b+]
=5 abeld T v ot s wfar '+ e o
% & 8 |
ir:LW'matﬂlesetofaﬂmtegerslﬁJnnsagroupmt}aﬁle
:Hinary operation*' defined by the rule:
*h=g+b+1 for all a,bel.
SSETs AdT e @ dad H Fe, A i,
et e ST g B A Frn |
I-xplain closure, mnmlutaﬁvqmietﬁveandgbsorpton
Jaws in context of POSETs and Lattices.

Jre@l/or

roup

51 o 31 91 & P Aged §AEY c 21 F 8
e 5 (P, ) U S B, T8l (o A TGS

v EHeT: qried & |
AAB=An BZM g AVB=AuBaHl A, BEP

(1) Turn Over

http://www.onlinebu.com

wod ngaurjuo mmm;duy

Wod nqIUIUO’ MMM/ diy

11.

http://'www.onlinebu.com

¢ family of all subscts 0%

ot SMWM(P.C)
v are respectively

1 I3 for all A, BeP

X is nsetand P - 3% e th |
Let P be ordaped by sl incluai
a lnitice, whepg nxct arnd poin

by
ArB=AN BandAVH - A

ws & eiwg e i |
Write the adjsoer » matrix of the graph:

wd) e .

 HqTor

i e & R a el 2% A1 g % o9
!

N F’lliﬂrslnrtestpn‘a:betweenaandz for the following

http://www.onlinebu.com

wod ngaurjuo mmam;/duy



